Chemistry 20 - Unit 2 - Concentration as a

Percent

You may find the following formulas useful:
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1. Write dissociation formulas for each of the following compounds. Following that, predict the solubility of each

compound in water.

a. Barium chloride (o&o

&\C\%“e B + 2C|~

. Rubidium oxalate («q)

c. Strontium sulfate (5)

SOy — St + 503,‘_

d. Iron (lll) hydroxide (5)

FQ_(O"Ds"D Feg+ t BOH-

e. Copper (1) fluoride (C\CD

CL\F —D CUL+ '\'F—-

Ro,00ccn— 2R6" + Coccon™

f.  Ammonium chlorate (&q)
NH,(10; = NHy' + o
1 g. Csesium perchlolr'ate (5) 03

GOy = ' + Q0g

h. Vanadium (V) carbonate (‘5

V, (Cods — U5 Sz

i. Lithium phosphate (A9
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ead (I1) sulfate Cs)

P‘Df@q - L2+ 563 -

2. Rubbing alcohol, C;H,0H,, is typically sold in many drugstores as 70.0% by volume.
a. What volume of pure C;H,0H, is present in a 500 mL solution?

VC3H;OH = ;700.2‘ i@v\/\l\
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b. Under standard conditions, the density of rubbing alcohol is 0.786 g/mL. How many grams of rubbing

alcohol are in a typical bottle?

“egon = OFey) | x350nL §2¥54

c. How many moles of rubbing alcohol are+
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3. Hydrogen peroxide is a common disinfectant. Calculate the mass of H,O,

needed to make 1000 bottles of

aq)

rubbing alcohol if each bottle contains 250 g of solution and the concentration by weight is 3.0%.

M0, = 307 - 2504 = 7.5 cer boltle
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4. Atypical 355 mL can of Coca-Cola contains 39 g of sucrose, C,,H,,0, 4,
a. What chemical amount of sucrose is in a case of 24 cans of Coca-Cola?

MOy = S‘i% i eons = %6‘5 o ‘i.“\xlozfs

b. Under standard conditions, the density of sucrose is 1.59 g/mL. What is the percentage concentration
by volume of sucrose in 1 can of Coca-Cola?

C\)uz Z‘SW\L OO
Vo= 3Tqx dml - 25ml b= 4

5. A solution of sodium hydroxide has a concentration of 15.0% by volume.
a. If a beaker contains 425 mL of this solution, what volume of sodium hydroxide is present?

Nodfe = I1SO7- 42Suk =]63Bml |
| 007

6. A brine solution in a home water-softening system has a salt concentration of 25.0% by mass. In grams, what
mass of salt is dissolved if the tank holds 60.0 kg of solution?

M= 2507 - C0.0Ka
[ \/GQ—'WSOK% T/
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7. A 0.175 kg solution contains 0.470 moles of unknown metal with a 15.0% concentration by weight.
a. In grams, what mass of metal is dissolved in the solution?

Medde = 1907 - |;'53 __WZL3i l
| OO7

b. What is the most likely identity of the unknown metal?
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